
!= cf=j @)&^÷)&&                               -j6]h ?= xhf/df_

2. ah]6 pkzLif{s g+= #)&)@)!                                             
!)= jflif{s ah]6 ?= #@$(&=))  !!= o; cjlwsf] jh]6M ?= !$))=)

#= dGqfnosf] gfdM   pBf]u, ko{6g, jg tyf jftfj/0f  -s_ cfGt/LsM !_ g]kfn ;/sf/  !@= o; cjlwsf] vr{ ? !!)@=)

      @_ hg;xeflutf  !#= nIosf] t'ngfdf vr{ k||ltzt M &*=&! k|ltzt 

%= sfo{qmd÷ cfof]hgfsf] gfdM l8lehg jg sfof{no, DofUbL  -v_ a}b]lzsM !_ cg'bfgM  @_ C0fM

^= :yfgM -s_ lhNnfM

&= cfof]hgf z'? ePsf] ldltM

*= cfof]hgf k"/f x'g] ldltM

(= cfof]hgf k|d'vsf] gfdM xl/ZrGb| ;fksf]6f, ;Gtf]if vgfn

kl/df0f ef/ jh]6 kl/df0f ef/ ah]6 kl/df0f efl/t ef}lts ah]6

cf_ rfn' vr{ cGtu{tsf sfo{qmdx?

2.7.5.11
xfO ]̂s g;{/L :yfkgf Pj+ k'/fgf] :t/ 

pGgtL -k|rf/ k|;f/ tyf ;fdfu|L 

pTkfbg tyf k|sf;g / ljt/)f_

22522 j^f 1 18.04 2000 1 7.22 800 1 57.14 100 800

2.8.1.1
cg'udg d"Nof+sg tyf sfo{qmd 

sfof{Gjog e|d)f vr{ -cg'udg d'Nof+sg 

/ e|d)f_ 

22611 k^s÷;+Vof 20 5.77 640 200 2.89 320 17.29 100 242

4

2.7.19.3

;f=j=p=;= sf] sfo{of]hgf gljs/)f 

;xof]u -ul/a, dlxnf / blnt nlIft 

hnjfo' kl/j{tg cg's'ng of]hgf_ -

jg:ktL_ 

22522 j^f 19 2.57 285 4 0.54 60 10 4.286 100 60

l;=g+= sfo{qmd÷lqmofsnfk vr{ lzif{s OsfO{

jflif{s nIo t];|f] rf}dfl;s nIo t];|f] rf}dfl;s k|ult 

s}lkmot

;fd'bflos tyf sa'lnotL jg ljsf; sfo{qmd

t];|f] rf}dfl;s nIo tyf k|ult

$=ljefu÷;+:yf M jg lgb]{zgfno

k|b]z ;/sf/

pBf]u, ko{6g, jg tyf jftfj/0f dGqfno

jg lgb]{zgfno

l8lehg jg sfof{no, DofUbL 

u08sL k|b]z, g]kfn 



kl/df0f ef/ jh]6 kl/df0f ef/ ah]6 kl/df0f efl/t ef}lts ah]6

l;=g+= sfo{qmd÷lqmofsnfk vr{ lzif{s OsfO{

jflif{s nIo t];|f] rf}dfl;s nIo t];|f] rf}dfl;s k|ult 

s}lkmot

5

2.7.23.2
;xeflutf d'ns rf]/Ls^fgL tyf 

rf]/Llzsf/L lgoGq)f -;+:yf÷;ldltnfO{ 

cg'bfg_ 

22522 k^s÷;+Vof 1 0.9 100 1 0.9 100 0 0 0 0 lgsf; /f]Ssf 

2.7.23.5
jg tyf jGohGt' ;DaGwL d'$fsf] 

cg';Gwfg txlssft / d'@f bfo/L -

;+:yf÷;ldltnfO{ cg'bfg_

22522 k^s÷;+Vof 1 0.9 100 1 0.9 100 0 0 0 0 lgsf; /f]Ssf 

4.3.2.3
lghL jg btf{ ug{ nfUg] /fhZj vr{ 

cg'bfg -u}x| ljlQo Joj;fo k"lhut 

;xfotf_

25212 Kofs]^ 10 0.9 100 2 0.18 20 0 0 0 0 lgsf; /f]Ssf 

29.08 3225 12.63 1400 78.71 100 1102.0

;du| ef}lts k|ult = 100 k|ltzt

;du| ef/Lt k|ult = 78=71 k|ltzt 

tof/÷k|dfl)ft ug]{ 

gljg ljZjsdf{ 

/fli^«o jg ljsf; tyf Joj:yfkg sfo{qmd

lg= l*=j=c=

j[If;'wf/, j[Iff/f]k)f tyf lghL jg ljsf; sfo{qmd 

rfn' sfo{qmd tk{msf] hDdf 



/sd ?= xhf/df




